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The figures in the margin indicate
SJull marks for the questions.

- Answer either in English or in Assamese.

1. Fill in the blanks : - 1x7=7
A O o7 T ¢ :

(@) Vassopressin hormone deficiency
CAUSES .evvvvreervnennns disease.

~oafmﬁ%qqﬁﬁﬁ<wam€ @7 @Ry A
(b) Contraction of the heart starts at the
.............. ... node.

TSI FTIBA W o, S|
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(¢) Leydig cells secrete .................
hormone. ‘

@R @ERIE .. T w9
@

(d) The peptic cells of gastric gla.nds secrete

ooooooooooooooooooo

AT g 9 (otoifbT @m:[cq
................. w9 A
(7 A is the protein part of
,holoenzyme
................. mm@gmzaﬁﬂw.
(i ‘Bundle of His’ is found 1n ...................
g il ................. -5 TFS |
(2] R gland secretes luiéinizing
hormone. '
................. 2R eI = e TR
Answer in brief : (any four) Ix4=8

o T it 2 (Rt o1iJ)
(a) Define Michaelis constant.
- RfR 37T 7@ Fdn
(b) What is chloride shift ?
- FIFC AT e
(c) Define synapse.
ﬁl{[ AR H &
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(d) Significance of Urea Cycle.
BTRA! s |

(e} What is muscle contraction ?

TG FRPIeA I 7 @ e

Write short notes on : (any three)

. : . 5x3=15

oY ot it ¢ (Riczereant oY)
(a) Oxygen dissociation curve

efitem Roaie i
(b) B-oxidation of palmitic acid

A afees [ w@iwe
(c) Krebs’ cycle

(TG 5F
(d) Neurotransmitter

(e} Role of hormones in female feproductive
system.

A-TeT’] GRS [T ASK |

What is blood coagulation? Describe in

~detail the mechanism of blood coagulation.

2+8=10
TG e Al Fe mwaeaefﬁmm
o, IR o1 '
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Or | 9
What is digestion ? Explain in detail the
physiological process of carbohydrate
digestion in man. 2+8=10
S5 e g m AT Ao LN IR
G T

5. Describe the mechanism of Enzyme action ?
Write a brief note on Enzyme kinetics.
: 5+5=10
BT RT3l 31 1 B sifoReem’s eolre
. 5 (Or foran :
- Or [ g3t .
Define action potential. Describe in detail
the conduction of nerve impulse along a
" non-myelinated nerve fibre. = = 2+8=10
T Rea's 7@ ol afmRE wgees e
RIS 2 A o7IR® =W Iy ol

6. What is countercurrent mechanism ? Write
a short note 'on mechanism of urine
formation. | 5+5=10

SR IS =l 2. 73 Seoivm eifirr R ofb
53 (oWt ferl |
: Oor /[ g3t ,

Explain in detail the mechanism of Electron

Transport Chain in mitochondria. 10
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